H & 0l & AHS B Ml A

20233 =& 3 3 LEtSIH &l

A HREX D
A NHHEIBEE AF(FELXSNLY/XNALZAI)

Rl NESR2 S48 ML (St &)
SA - B GR(31) - HIRAY - BES il &k ol @ o HimE=T
QIRIEX 0t 2,137,674 2,175,544 A37,870
= 176,256 176,256 0
< 4,000 4,000 0
Al 1,957,418 1,995,288 A37,870
NHMSI|BHEE RS (FEXRGNL/XSXCAl) 1,820,223 1,859,898 A39,675
= 141,306 141,306 0
[ 4,000 4,000 0
Al 1,674,917 1,714,592 A39,675
NESEES e R 1,412,031 1,419,649 N7,618
NESLX EX FHel 17,805 20,000 n2,19%
201 er23 | 17,805 20,000 02,19%
01 At2teltl 17,805 20,000 n2,19%
OXNHZSREH S22
17,805,000 17,805 20,000 N2,195
INESESS | 132,352 136,000 13,648
207 AR 14,100 15,000 2900
01 H7ESHI 14,100 15,000 2900
OEQXNNEAN BE Y
14,100,000 14,100 15,000 2900
308 AtXIEMSO0IE 118,252 121,000 22,748
11 SIS0t 4 A A A 118,252 121,000 N2,748
OXXEH Q2XE Hi|
118,252,000 118,252 121,000 N2,748
NE=ZIIEY 22l 38,225 40,000 N1,775
201 er23| 11,933 12,000 267
01 AtR2t2l] 11,933 12,000 N67
OXIH=2I|EE H&t| 11,933,000 11,933 12,000 A67
308 XXM SOIA 26,292 28,000 A1,708
11 SI 2SS Z A A AE AL S| 26,292 28,000 A1,708
OXIZIIEHE <le2e] 26,292,000 26,292 28,000 21,708
dEEol EXNFZEAAY 75 296,911 328,968 A32,057
= 106,306 106,306 0
< 4,000 4,000 0
Al 186,605 218,662 A32,057
KETHEAAIY 22 30,09 62,153 A32,057
201 LEer2 | 27,09 59,153 A32,057
01 At2t2lt] 27,09% 59,153 A32,057
AU HH| (THE AL 1,000 3,800 22,800
o NI ZAAG 2t ?IB3 2
o 0 2,800 22,800
OXIETHEAIAY 22X 7 2EEIIeE
21,329,000 21,329 50,000 N28,671
OXIE=ZIIEE H&|
41,0003 *17&*110% 767 1,353 ~586
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